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Domain Knowledge

Q.1 According to |E rules for service connection for low and medium voltage line, the
height of service line conductors erected across a street must NOT be less than:

Ans X A 5490 m
& B 5875m
XC610m
XD518m

Question 1D : 9277591885
Status | Answered
Chosen Option | A
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Q.2 How many AND and OR gates are required to realise Y = AB +BC+CD?
Ans X A.23

X B21
&C32
XD.22

Question ID : 9277591769
Status : Answered
Chosen Option : C

Q.3 Which type of transmission system is NOT considered for a DC system?
Ans X A DC two wires with midpoint earthed

X B. DC three wires
X C. DC two wires
« D DC four wires with line earthed

Question 1D ; 9277591853

Status : Answered
Chosen Option : D.
—mm | — - —— - ——— - - -
Q4 In half adder, the total number of inputs and outputs are:

Ans X A 1.2
X B21
XC32
& D22

Question 1D : 9277591774
Status | Answered
Chosen Option : D
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Q.5 Which extension is used for an AutoCAD drawing file?
Ans X A PDW

X B.DXG
X C.DWX
« D DWG

Question ID : 9277591845
Status : Answered
Chosen Option : C

Q6 The expression for efficiency of the converter shown in the figure is defined by:

{b) Flow Energy Converter

__Fuslin el

Heat Engine
e
(Ex: Piston Engine) |________o
(Heat In)

Ans X A Heatiniork out
o B Work out / heat in
X C. Heat Rejected/ fuel in
X D. Heat Rejected / heat in

Question |D : 9277591862
Status | Answered
Chosen Option : B
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Q.7 Which software provides automation in electrical power system?
Ans X A Pspice

X B.EAPT
& C ETAP
X D. PSCAD

Question ID : 9277591842
Status - Answered
Chosen Option : A

Q.8 Which parameter is NOT considered for site selection of hydroelectric plant?
Ans X A Land with rocks

X B Availability of water
« C. Sedimentaton
X D. Large storage area

Question 10 : 9277591822
Status | Answered
Chosen Option : B.

—mm | — - —— - ——— - - -
Q.9 Which of the following is NOT related to overhead lines?
Ans X A. Supports

X B. Conductors
X C. Insulators

o O Cable tray

Question 1D : 9277591884
Status . Answered
Chosen Option : D
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Q.10 Which method is used for transferring the power through an auto transformer?
Ans X A. Induction

X B. Conduction
X C. Mutual coupling
«” D. Conduction and induction

Question ID : 9277591780
Status © Answered
Chosen Option : D

Q.11 A device which controls the high current on the load side is known as:
Ans X A MOSFET

X B.TRIAC
« C SCR
X D.GTO
Question 1D : 9277591797
Status © Answered
Chosen Option : B
—mm A ——————— - -

Q.12 The single phase energy meter, displays the consum;d,Win o
Ans X A Kilowatt

X B. Volt ampere reactive
o« C. Kilowstt-hour
X D. Voit ampere

Question 1D : 9277591785
Status | Answered
Chosen Option: C
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Q.13 Which is the basic power equation of dynamo (DC machine)?

Ans XA Poutput = Pinput

X 8 Pinput = Poutput - Poss
XcC Poutput 55 Plnput + Poss

VD Pinput = Foutput * Boss

Question 1D : 9277591775
Status . Answered
Chosen Option : D

Q.14 Which type of measuring instrument widely used in power system for measuring the
energy?
Ans X A. Rectification type

« B. Induction type
X C. Moving coil or iron type
X D. Electrostatic type

“Question (D : 9277591791
Status : Answered
Chosen Option : B

Q.15 Which of the following is a semiconductor material?
Ans X A Paper

« B Silicon
X C. Rubber
< D. Aluminium

Question 1D : 9277591763
Status © Answered
Chosen Option : B
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Q.16 The number of poles required to achieve a speed of 1800 RPM, when operated on
400V, 60 Hz frequency is:

Ans X A2
S B4
XC6
X0D8

Question 1D : 9277591783
Status : Answered
Chosen Option : B

Q.17 Which of the following defines the armature current in a DC shunt generator?

Ans
%n B Y

Question 1D : 9277591779
Status - Answered
Chosen Option : B
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Q.18 Fer Jarw T IO a1 8, Wl wuF o A= # Prdw (MsmeD sfifraw, 2006 F
ygER) AR adigard
Ans X A 25 W& s

X 8 3@ 39
X C. 100 &1¥ ¥
D 5805 vl

Question |D : 9277591827
Status | Answered
Chosen Option : C

Q.19 Which of the following defines the ocean thermal energy conversion?
Ans X A Technology for producing energy by ocean wave force of surface waters

X B. Technology for preducing energy by heating the ocean surface waters

X C. Technology for producing energy by steam made from ocean waters and then steam
rotates the turbine

«” D. Technology for preducing energy by temperature differences between ocean shiface
waters and deep ocean waters

‘Question 1D.; 9277591858
Status | Answered
ChosenOption : B

Q.20 Which type of analysis is NOT done by MATLAB software?
Ans X A. Numerical computing

X B. Algebraic solutions
o C. Plant planning analysis

X D. Dynamic system sumw

Question 1D : 9277591839
Status - Answered
Chosen Option: C
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Q.21 The highest AC voitage transmission line in India is:
Ans X A 11000 kV

& B 765 kV
X C. 400 kv
X D.800 KV

Question ID : 9277591850
Status © Answered
Chosen Option : B

Ans X A Cleat wiring
X B. Conduit wiring
«” C. Clipboard winng
X D. Concealed wiring

Q.22 Which of the following is NOT a category of electrical wiring system?

Question 1D : 9277591883
Status | Answered
Chosen Option : €

conductors?
Ans X A Schering bridge method

X B. Wien's bridge method
X C. Loss of charge method
«” D. Kelvin double bridge method

Q.23 Which of the following methods is used for measuring the resistivity of good

Question 1D : 9277591764
Status : Answered
Chosen Option : D
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Q.24 The Wheatstone beidge balapce coadition is shown in the figure. Find the vahie of RX. if P= 900 0. Q = 300 Qand S ~
150

Ans X ABQ
X B 140
L C50
X030

Q.25 Which of the following is used to analyse and
Ans X A Pspice

X B. Power World Simulator
« C. Simulink .\
X D.PCAD é
‘Question 1D : 9277591840
Chosen Option : B

Page - 10



A testbook.com

J Download Testbook App

Q.26 Which of the following is NOT an advantage of SCR as a switch?
Ans ¢ A The switching speed is very high

X B. The operation does not produce harmonics.

X C. It gives noiseless operation at high efficiency.

X D. It has no moving parts.

Question |D : 9277591805
Status : Answered
Chosen Option : B

Q.27 Which of the following are NOT transmission line elements?
Ans A Distribution poles
X B. Voltage regulators
X C. Protective devices
X D. Line insulators

conditions?
Ans X A MCT

o B Earthing
X C. Fuse holder
X D. Dielectric material

Question 1D : 9277591880
Status - Answered
Chosen Option : A
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Q.29 Which command is used for creating rectangles in AutoCAD?
Ans X A Squr

X B.REC

X C.RET

 D.1SO

Question |1D : 9277591846
Status : Answered
Chosen Option : C

Q.30 Which type of solar cell gives the highest efficiency?
Ans A Mono crystafline

X B. Polycrystalline germanium
X C. Thin film
X D. Polycrystalline silicon

Q.31 Which of the following is used for sending a comma
transmitting the reading of an instrument from a n

Ans X A HDIM
X B. Micro controlier
X C PLC
o« D Telemetry
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Q.32 Which is used for making ladder logic program?
Ans X A. Connecting lines and coils

X B. Connecting lines with logic gate symbol
X C. Virtual retay type contacts and coils
«” D. Function blocks and connecting lines

Question |D : 9277591809
Status : Answered
Chosen Option : B

Q.33 The electrical resistivity of very pure silver near 0 K is:
Ans o A very low but measurable

X B. not measurable
X C. below 100 ohm/meter
X D. very high

Q.34 The representation of a power system using the sin
known as:

Ans ¢ A single line diagiam
X B. transmission circuit diagram
X C. power symbol diagram
X D. component diagram
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Q.35 Which component is NOT required in conversion of wind energy to electrical DC
supply?
Ans X A Generator

X B Wind turbine
« C.DC load
X D. Charge controller

Question 1D : 9277591863
Status : Answered
Chosen Option: C

Q.36 Which of the following types of materials lacks permanent magnetic dipoles?
Ans X A. Fully magnetic

X B. Semi magnetic

X C. Ferromagnetic
«” D. Diamagnetic

‘‘‘‘‘

Q.37 wiga soft F wwerar & Ffor @S (building bie
Rraare & an § Rar =8 o a2

Ans X A Gif@n.-afgw (Risk-Tolerance)
X B el (vVisionary)
 C. A SITRsE (Busi
X D. 4191 (Innovation)

Question 1D : 9277591830
Status | Answered
Chosen Option : D
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Q.38 Which property is related to arc welding transformer?
Ans ¢ A Lowvoltage, high current

X B. Lowvoltage, low current
X C. High voltage, low current
X D. High voltage, high current

Question |D : 9277591892
Status : Answered
Chosen Option : A

Q.39 Which of the following is NOT included in routine tests of a circuit breaker?
Ans X A Operational tests

X B. One minute power frequency voltage dry withstand tests

X C. Measurement of resistance of the main circuits

« D. Depreciation of circult breaker

Q.40 Which generation of entrepreneurs use EDP (Entrep
Programmes)?

Ans X A Last generation entrepreneurs
X B. First generation entrepreneurs
X C. Mix generation entrepreneurs
«” D Future generation entrepre

Question 1D : 9277591826
Status : Answered
Chosen Option : C
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Q.41 What is the full form of LOB?
Ans X A. Lift of Burden

X B. Line of Balance
« C. Line of Business
X D. Loss of Business

Question ID : 9277591832
Status - Answered
Chosen Option : D

Q.42 The equation 'Assets = Liabilities + Equity’ is related to:
Ans X A credited sheet

X B. expenses sheet
«” C balance sheet
X D. revenues sheet

Q.43 A Human-Machine Interface (HMI) is used for:
Ans X A. controlling the PLC program and interfacing

« B. allowing a user to interact with a devi
X C. controlling the PLC program
X D. interfacing the SCADA

Question ID : 9277591811
Status : Answered
Chosen Option : A
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Q.44 Which of the following is NOT a track electrification system?
Ans X A Three-phase AC system

X B. Single-phase AC system
X C.DC system
«” D. Twe-phase AC system

Question |D : 9277591896
Status - Answered
Chosen Option : D

Q45 Which is the perfect analogy of two transistors shown in the given figure?

Ans X A Power MOSFET
o« B. Thyristors
X c.ur
X D.FET
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Ans

Q.46 Which plane is used to draw all objects in AutoCAD?

X A XZ plane
X B.YZ plane
« C. XY piane
X D.ZY plane

Question 1D : 9277591847
Status : Not Answered
Chosen Option : -

Ans

Q.47 Which of the following is NOT a thyristor type?
Ans

X A ETO
& B T
X C.GTO
X D.SCR

Q.48 Which of the following provides the controlling torg

« A Voltage coll
X B. Spring

X C. Weight

X D. Eddy current

Question ID : 9277591789
Status : Answered
Chosen Option : A
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Q4% Which type of fuse is shown in the given diagram?

Live
 wire
- =
Fuse
«1 T wire
G
. Fuse
T gurb @%
H £ ;
Fuss 9

o holder

Ans X A, Link type cartridge
X B.HRC
« C. Rewireable fuse
X D, D-type cartridge fuse
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Q.50 A class of ownership that has a higher claim on assets and earnings than common
stock holders is known as:

Ans X A, Hybrid stock holders
X B. Debenture share holders
” C. Preferred stock holders
X D. Commadity holders

Question 1D : 9277591833
Status : Not Answered
Chosen Option : -

Q.51 What happens when moisture gets into the insulating materials?
Ans X A. It decreases dielectric constant

X B. Itincreases the insulation resistance
X C. Itincreases the dielectric strength
«” D Itincreases the dielectric loss
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@52 Which type of energy conversion is shown in given diagram?

electricity o=
transmission cable

warm surface wator

soawnator

28 - as*cC cold deoop
soawator
3 -7°C

Ans X A Ocean wave energy
X B. Geo thermal energy
«” C. Ocean thermal energy
X D. Tidal energy

‘:sf

D : 9277591859
Status | Answered
Option: C

Q.53 Which of the following is NOT an over cun
Ans o A. Instantaneous aver cu:rgﬂm;:
A AT

X B. Inverse time over cuirent relay 4 0

X C. Definite time er curren 'ﬁ

X D. Closing timed over current relz

)

y
\

Question 1D : 9277591875
Status : Answered
Chosen Option : D
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Q54 A 220 Q resistor is connected in series with the gate of an SCR as shown in the given
figure. The gate current required to fire the SCR is 7 mA. What is the input voltage (Vin)

required to fire the SCR?
220¢2
Vi
R 1

Ans X A 260V
v B 224V
X Ca12v
XD 16V

Question 1D : 9277591806

Q.55 Which of the following elements has the highest conductivi
Ans X A Stinless steel

B Siver
X C. Aluminium
X D. Copper

Question 1D : 9277591760
Status : Answered
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Q.56 Which of the following is NOT a type of electric resistance welding?
Ans X A. Butt welding

X B. Seam welding
« C. Helium welding
X D. Spot welding

Question ID : 9277591890
Status : Answered
Chosen Option : C

Q.57 Which method is NOT used for controlling the speed of slip ring induction motor?
Ans A Cascaded method

X B. Changing the pole method
X C. Ship power control method
X D. Rotor resistance method

Q.58 pspice (freamew) Aivedar &1 of &9 #0132
Ans X' A Power Simuiation Program with Integrated
fag $fedes wide o gaficaa)
X B. Personal System Program with Inte
¢fedes widbe o1 gdfdesa)
X C. Professional Simulation P
aam fag dfeues afde vkt
« D Personal Simulatic
urant fag $fedes afde @

Question 1D : 9277591841
Chosen Option : D
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Q.59 has a negative temperature coefficient of resistance.
Ans ¢ A Carbon

X B. Copper

X C. Steel

X D. Aluminium

Question |D : 9277591757
Status - Answered
Chosen Option : A

Q.60 Which consideration is NOT included in the preparation of wiring?
Ans o A Type of conductor

X B. Wiring manufacturer
X C. Specifications of the wire
X D. Colour code mentioned

Q.61 Which type of instrument is used for measuring a ve
Ans X A Wien's bridge

« B. Megger
X C. Kelin's single bridge
X D. Wheatstone bridge

Question ID : 9277591788
Status : Answered
Chosen Option : B
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Q.62 Which method is NOT used for starting the synchronous motor?

Ans

X A. Damper winding

X B. Small DC machine
X C. Pony motor

" D. Quter rolled machine

Question |1D : 9277591784
Status - Answered
Chosen Option : D

Q.63 Which type of work is NOT performed for maintenance of a transformer?
Ans

Ans

Q.64 A circuit which is used to turn off the SCR is:

« A Solving the designing errors

X B. Leak repair / seal replacement
X C. Corrosion and rust removal, welding work and painting work
X D. Taking measures for extending service life

X A. triggering circuit
X B. electrostatic circut
« C. commutation

X D. gate control circuit

Question ID : 9277591803
Status : Answered
Chosen Option : C
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Q.65 What is the result when Uranium-235 undergoes fission by slow neutrons?
Ans X A. Electron energy is multiplied.

X B. High level force is produced.
« C. A tremendous amount of heat is released
X D. There is no effect.

Question ID : 9277591866
Status - Answered
Chosen Option : C

Q.66 PLC's analog inputioutput address value has:
Ans X A 1byte

X B. 1 double word

X C.1bit
« D 1word

Q.67 Which type of energy audit invoives analysis of capi
Ans X A. Walkthrough audit

X B Detailed audit
X C. Benchmarking
o O Investment-grade audit

Question 1D : 9277591882
Status : Answered
Chosen Option : D
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Q.68 The process of taking measures to check the quality, performance or reliability of the
equipment is called:

& A testing

X B. inspecting
X C. servicing
X D. analysing

Ans

Question 1D : 9277591903

Chosen Option : B

Status | Answered

Q63 What is the correct output of Z in the given rung?

|=-1 [-====1/[=====( )=-]|
X Y z

Ans X AX+Y=2Z
XBX+Y=2
L CXY=2
XDXyY=2

&
\06

gﬁmla‘ 9277591816

m Anmred
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Q.70 What is the maximum number of inputs and outputs that are there in a small PLC?
Ans X A 200

X B.50
& C. 100
X D.500

Question ID : 9277591810
Status - Answered
Chosen Option : B

Q.71 For best conductivity, which type of copper is suitable?
Ans o A Pure annealed copper

X B. Silicon mix copper
X C. Politer type of copper
X D. Hard type of copper

Ans X A Power dicde
X B.QUADRAC
X C.TRIAC
« D DIAC

Question 1D : 9277591796
Status : Answered
Chosen Option : D
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Q.73 Which law states the following?

Ilumination, E at any point on a surface is directly proportional to the cosine of the
angle between the normal at that point and the line of flux':

Ans X A Ohm's law
«” B. Lambert's cosine law
X C. Inverse square law
X D. Supervie's law

Question 1D : 9277591894
Status : Answered
Chosen Option : B

Q.74 What is the use of JMP (Jump instruction paired) instruction in PLC?
Ans X A, Changing the program

X B. Cascading two programs
«” C. Causing PLC to skip over rungs
X D. Changing the instruction

Drain)?
Ans X A UJT

X B. Power dicde
 C. Power MOSFET
X D.BJT

Status . Answered
Chosen Option : C

og\ Question 1D : 9277591804
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Q.76 The energy motor used for domestic applications comes under the category of
instruments.

Ans X A Recording type
« B Integrating type
X C. Indicating type
< D. Nen responding type

Question 1D : 9277591786
Status : Answered
Chosen Option : B

Q.77 For a good fuse the value of the fusing factor is:
Ans X A. always zero

«” B. always more than 1
X C. always less than 1
X D. always equal to 1

Ans o A Fission of uranium

X B. Fusion of uranium
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Q.79 Which standards are embedded in a quality management system within an
organisation?

Ans X A 1SO 35001
X B 1S0 45000
« C. IS0 9000
X D.1SO ANI2

Question 1D : 9277591836
Status : Answered
Chosen Option: C

Q.80 In a single-phase traction system, which three-phase supply is fed into the induction
motor to drive a train?

Ans X A Termway
«” B. Kando system
X C. Klydnogram system
X D. Rotary converter

Ans X A IDB!
B IFCi
X c.icicl
X D.sFC

Question 1D : 9277591829
Status : Answered
Chosen Option : A
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Q.82 The output of NOR gate is high when:
Ans X A.one inputis low and the other input is high

X B. one input is high and the other input is fow
«” C. both inputs are low
X D. both inputs are high

Question |D : 9277591767
Status - Answered
Chosen Option : C

Ans X A There is no skin effect on conductors.
« B. Generation of power at high DC voltages is easy

X D, Voltage drop is less,

X B, Non conductor
«” C. Non-linear conductor
X D. Linear conductor

Q.83 Which of the following is NOT an advantage of DC electric power transmission?

X C. There is no problem of inductance, capacitance and phase displacement.

Question 1D : 9277591758
Status : Answered
Chosen Option : C
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Ans ¢ A Three pole circuit breaker
X B. Three pole fused switch
X C. Over oad relay
X D. Three phase magnetic motor starter

Q85 Recognise the symbol shown in the given figure.
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Q88 1dentify the logic gates in the given symbol.

Question 1D : 9277591766
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Q87 1dentify the relay shown in the given figure.

To Alarm

Circuit
w/

Ans X A Polarized relay
X B Diferential relays
X C. IDMT relay
o D Buchholz relays

Yo rip
Circuit

Ans X A NAND or OR
« B NAND or NOR
X C. NAND or EXOR
X D. AND or NOR

Question 1D © 9277591768
Chosen Option : B
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Q.89 Which type of joint is NOT a permanent joint?
Ans X A. Joint by wekling

« B. Joint by press fit
X C. Joint by shouldering
X D. Joint by Rivets

Question ID : 9277591891
Status - Answered
Chosen Option : D

Q.90 Which of the following is useful in the measurement of a live-conductor without
damaging / powering down the circuit?

Ans X A. Earth tester
X B. Ammeter
X C. Multimeter

«” D. Tong tester

Q.91 Which process completes the work of removing th
impurities from electrical equipment?

Ans X A. Linking
« B Cleaning
X C. Brightening
X D. Changing

Question ID : 9277591898
Status : Answered
Chosen Option : B

Page - 36



A testbook.com J» Download Testbook App

Q.92 Which of the following appears across the circuit breaker contacts immediately after
the arc interruption at current zero?

Ans X A, Surge voltage
« B. Recovery voltage
X C. Hazard voltage
X D. Peak voitage

Question 1D : 9277591871
Status : Answered
Chosen Option : A

Q.93 Which relay is suitable for long transmission line for protection of high power surges?
Ans X A. Impedance relay
X B. Reactance relay
« C. MHO refay

X D. Voits current relay

‘‘‘‘‘

Q.94 Arrange the following in the correct order of steps
cycle.

1. Design,

2. Marketing,

3. Analysis and evaluation

4, Inspection, testing and delivery

Ans A 2214
XB2314
XcC.48321
XD1234

Question 1D : 9277591837
Status - Not Answered
Chosen Option : ~
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Q.95 Which of the following power plants will have the lowest operating cost?
Ans X A. Nuclear power plant

« B. Photovoitaic Solar plant
X C. Coalfired combustion turbine plant
X D. Natural gas combined-cycle plant

Question |D : 9277591820
Status - Answered
Chosen Option : B

Q.96 Which type of colour key is known as a transmission line in the given diagram?
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Q.97 Which of the following is an example of the conversion of heat energy to mechanical
energy?
Ans ¢ A Steam engine

X B. Piezoelectric
X C. Photosynthesis in plants
X D. Geothermal power plant

Question 1D : 9277591864
Status : Answered
Chosen Option : A

Q98 Which type of distribution system is shown in the given figure?

DC/AC
AC/OC Consumer/load 1 fnverter Consumer/Load 3
AC Substation
- //
=0 /
-~
=

Ans X A Three-wire AC distribution system
X B. Ring type DC distribution systen
+” C. Bipolar DC distribution
/< D. Unipolar DC distributig

Question 1D : 9277591857
Status : Answered
Chosen Option: D
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Q.99 Which type of material has highest dielectric strength?
Ans X A Glass

X B. Soft rubber
X C. Porcelain
« D Polystyrene
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Ans

Q100 Which type of insulator is shown in the given figure?

o« A. Suspension insulator
X B. Pin insulator

X C. Shackle insulator
X D. Strain insulator

Page - 41



A testbook.com 1 Download Testbook App

Q.101 Which option is the correct formula to calculate/define illumination?
Aos (CP x £)

XA

flux

(Luminous flux)?*
xs
area

Lo (P x w)

area
xu(C.P)(m)

flux

Question 1D : 9277591895

—

Q.102 Which of the following Is used for turning ON DIAC?
Ans X A. High voitage on ancde

« B Break over voltage

X C. Gate voage
X D. Gate current
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\

7
7

/
é

Ans X A Direct induction heating
X B. Indirect resistance heating
X C. Indirect arc heating
” O Direct resistance heating

Ans X A. Visual inspection
X B. Lubrication test
«” C. Noise and vibratio
X D. Reviewing the s

Q103 Recognise the heating type shown in the given figure.

Question ID - 9277591901
Status : Answered
Chosen Option : A
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Q.105 Which type of test is NOT included in DC motor maintenance and repair?
Ans X A. Load test of motor

X B. Reviewing the service history
«” C. Brush and commutator maintenance
X D. Bearings and lubrication

Question ID : 9277591902
Status - Answered
Chosen Option : B

Q.106 Which function is NOT provided by the MATLAB Mathematical Function Library?
Ans X A Bessel functions

X B. Matrix eigenvalues
X C. Fourier transforms
«” D Line diagram

Ans X A PORQORR
o B.PXOR Q XOR R
X C.PORQANDR
X D.PAND Q ANDR
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Q.108 HJ« UTa7 (candle power) FIRT JeaToAd SaIA Tea (luminous flux) fa=m glar 22
Ans X A 4w

vE 4
xc (5/3)w
Xo (5/3)n

Question 1D : 9277591893
Status : Answered
Chosen Option : B

Q.109 Which property is NOT considered in latches?
Ans X A Output of the latches changes as we change the input.

X B. Latches are level triggered.
«” C Latches are edge triggered
X D Latches are fast.

Q.110 Solar array is a:
Ans X A. cascade connected solar plant

X B. combination of solar panel with

Question 1D : 9277591823
Status | Answered
Chosen Option : C
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Q.111 Which type of relay works by remotely closing but CANNOT remotely reclose the

breaker?
Ans X A. Capacitor start relay
«” B. Shunt trip magnetic relay
X C. Series trip magnetic relay
X D. Series trip electrostatic relay

Question 1D : 9277591870
Status - Not Answered
Chosen Option : -

Q.112 Which component symbol is NOT used in the given figure of motor power and control circuit wiring?

Controf circuit

e
L Lz

Tt

M oL
L —I—X
s —*.
L3 e —

Power Groult

Ans X A. Over load relay
X B. Three phase magnetic motor
X C. Three phase AC supply li
«” D. Three pole non fu

Question ID : 9277591878
Status . Answered
Chosen Option : D

Page - 46



A testbook.com » Download Testbook App

Q.113 The Sun-radiated solar energy on the surface of Earth on a normal sunny day is
approximately:

Ans XA 1320 W/m?
X B 100 W/ m?
X C 1500 W/ m?
¥ 0 | kW/m?

Question 1D : 9277591817
Status : Answered
Chosen Option : A

Q.114 Which device converts the chemical energy to electrical energy?
Ans X A Eectrical generator

« B. Fuel cell
X C. Nuclear power plant
X D. Thermocouple

Ans X A. Product development
« B Commercialisation
X C. Concept stage
X D Marketing

Question 1D : 9277591828
Status : Not Answered
Chosen Option : -
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Q.116 Which of the following steps is not included in preventive maintenance of electrical
machine?

Ans X A, Pianning
« B. Measurement
X C. Evaluation
X D. Testing

Question 1D : 9277591899
Status : Answered
Chosen Option : A

Q.117 Which power plant will have the highest operating life?
Ans X A. Coalfired combustion turbine plant

X B. Nuclear power plant
«” C. Hydroelectric power plant
X D. Photovoltaic Solar plant

Ans X A Diesel power plant
X B. Gas power plant
X C. Steam power plant
«” D. Nuclear power plant
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Ans

Q.119 Which channel is preferred for providing goods or services to the marketplace?

X A. Monopolies in market

« B. Marketing channels

X C. Multilevel hierarchy

X D. Muttiplication through team

Question |1D : 9277591831
Status : Not Answered
Chosen Option : =

Ans

f2ufX (balance condition) ¥t & AT 5§ 0 7% ¥ F1ar &, A S = WWE T TE FO

LAS0
XBeen
Xc140
XD.350

Q120 fraifer ypR &, TR R A 10 0 F 20 0 7% W 7 kX S & dedw AT A wgeE @
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Q.121 Which type of distribution system has high efficiency and is economical for the same
amount of power?

Ans X A Two-wire AC system
X B. Four-wire three-phase system
X C. Two-phase AC system
o D. Three-wire three-phase system

Question 1D : 9277591848
Status : Answered
Chosen Option : D

Q.122 Find the correct option for simplification of the Boolean expression.
(P+Q#R)(S+T)" + (P+Q+R)(S+T).
Ans X A PQR
X B ST
« C P+Q+R
X D.8+T

Q.123 Which software application is NOT used |
Ans X A Pspice

X B ETAP
o C. Pack Power
X D. MATLAB

Question 1D : 9277591838
Status - Not Answered
Chosen Option : -
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Q.124 What change can be made in the moving coil permanent magnet motor that works as a
flux meter?

Ans X A, Using control springs with large moment of inertia
X B. Using a series connected to a high resistance
X C. Using shunt connected to a low resistance
«” D. Eliminating the control springs

Question 1D : 9277591793

Not Attempted and
Status - parked For Review

Chosen Option : —

Q.125 In a PLC, online programming means a program which:
Ans X A. resides in the PC or laptop

« B resides in the PLC
X C. resides on the internet server
X D. works through internet connectivity

Ans ¢ A standard resistance
X B. variable resistance
X C. losses resistance
X D. constant resistance

Question ID : 9277591790
Status : Answered
Chosen Option : A
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Q.127 Which of the following is used for alternating current measurement?
Ans X A. Permanent magnet type ammeter

X B. Electrostatic ammeter
X C. Moving iron repulsion type voltmeter
«” D. Induction ammeter

Question ID : 9277591792
Status - Answered
Chosen Option : D

Q.128 Which of the following properties is NOT related to carbon electrodes in arc furnaces?
Ans o A Low melting point

X B. Inertness
X C. Insolubility
X D. Resistance to thermal shock

Q.129 Three mutual conversions of energy forms occur a
Ans X A. nuclear to thermal to heat to electric energy

X B. chemical to nuclear to mechanical to e

Question ID : 9277591865
Status : Answered
Chosen Option : C
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Q.130 Which software is open source and is used as an analog electronic simulator?
Ans X A.C++

X B. PROTUES
« C. Ngspice
X D. MATLAB

Question 1D : 9277591843
Status : Not Answered
Chosen Option : =

e Recognise the symbol shown in the given figure.

e ol ok

Ans X A Three pole fused switch
X B. Over load relay
« C. Three phase magnetic

X D. Three pole circuit

Question 1D : 9277591876
Status : Answered
Chosen Option : A
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Q.132 Linear induction motor is used in:
Ans X A. textile mills

X B. magnetic attraction
« C. traction
X D. mechanical workshop

Question ID : 9277591781
Status - Answered
Chosen Option : C

Q.133 What is the name of the control mechanism in which output has no influence on input?
Ans X A Temperature control system

X B. Feedback system

X C. Closed loop control system
« D. Open loop control system

Ans X A Armature
« B. Damper windings
X C. Commutator
X D. Carbon brushes

Question 1D : 9277591776
Status : Answered
Chosen Option : B
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Q.135 Which of the following statements does NOT describe tidal energy?
Ans X A. Itis the kinetic energy from the natural rise and fall of tides,

X B. Itis a form of renewable energy.
« C. Itis the energy derived from heating the ocean surface waters.
X D Itis obtained due to aiternating sea levels.

Question ID : 9277591860
Status - Answered
Chosen Option : C

Q.136 A 300 V of separately excited dc generator is run at rated speed without excitation,
terminal voltage on no load condition will be:

Ans X A Zero
« B Verylow2to3V
X C.300V
X D. Half voltage 150 V

Q.137 In which type of application are carbon electrodes
Ans X A Cinema projectors

« B GLS lamps
X C. Dry cells
X D. Electrical arc furnace

™ Question 1D : 9277591762

A -
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Q.138 Which of the following is NOT a design of substations?
Ans X A. Outdoor

« B Broad
X C. Pole mounted
X D. Indoor

Question ID : 9277591886
Status - Answered
Chosen Option : B

@139 Which connection is related to the given drawing?

Clockwise
Line 1 Tie Line 2
A2 A1-81 S2

PR

T A2®A1 ST i 82 L2

Ans X A. Differential compound
« B. Standard DC seres motor
X C. Standard DC shunt motor
X D. Standard DC compound (cumulati

0; Question 1D : 9277591879
_ Not Attempted and
Status : parked For Review

Chosen Option : —
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Q.140 Which type of logic gate is shown in the given ladder programming if A and B are inputs?

Ans X A secondary distribution
X B. primary transmission
«” C. primary distribution

X D. secondary transmission

Q.141 Large industrial consumers are connected to

| oe TR 02
- b F 4% ~
=B ERE OUTPUT
(211
E_‘
[ U
Ans X A NOR
XB.NAND
« C. EXOR
X D.EXNOR

Question 1D : 9277591814

{@%ﬂmo:mmz

"Slaguzﬁnmred
Chosen Option : C
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Q.142 Which parameter is NOT considered in the cash flow statement?
Ans ¢ A Trading actwities

X B. Operating activities

X C. Financing activities

X D. Investing activities

Question |1D : 9277591834
Status : Not Answered
Chosen Option : -

Q.143 Which of the following is NOT related to energy auditing?
Ans X A Detailed audit

X B. Walkthrough audit

« C. Analysing

X D. Benchmarking

Q.144 Which type of test is NOT included for circuit brea
Ans X A. Mechanical test
X B, Making capacity test
« C. Work out test
X D. Dielectric test

Question ID : 9277591869
Status : Answered
Chosen Option : C
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Q.145 The three terminals of a P type MOSFET are:
Ans ¢ A drain, scurce, gate

X B. anode, source, gate
X C. cathode, anode, gate
X D. two main terminals and a gate terminal

Question ID : 9277591798
Status : Answered
Chosen Option : A

Q.146 Which type of instrument is used to make an ohmmeter?
Ans A Maving coil type

X B. Repetitive type

X C. Dynamometer type

X D. Moving iron type

Ans X A. For production of voltage
X B. To make rotation easy
X C. For electromechanical conversion
" D. For commutation

Question 1D : 9277591777
Status : Answered
Chosen Option : C
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Q.148 Which type of logic gate is shown in the given ladder programming if A and B are inputs?

Iy - 0%
X R OUTPUT
Ans X A NOR
X B.NAND
« C. AND
X D:OR
Question |1D : 9277591813
Status : Answered
Chosen Option : C

—_———
Q.149 What is the value of fill factor if maximum power P, = 30W, Open circuit voltage Vee = 10.Va
cument Iy, =5A?

. oy
= O

‘:!r&mmnznnmau
Status Not Attempted and

"7 Marked For Review
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Q150 Which is the correct Boolean expression of output Q in the given figure?

Question ID : 9277591771
Status : Answered
Chosen Option : C

Section | General Knowledge or Awareness

Q.1 In which state is the ‘Yaoshang' festival celebrated?
Ans X A Assam

X B. Arunachal Pradesh
X C. Nagaland
« D Manipur
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Q2 yRa ¥ §i WY Bl A2
Ans o A FIUR

X B. dd
X c.fagr
X D. W uRw

Question 1D : 9277591905
Status : Answered
Chosen Option : A

Q3 e IU=aTH fa v ur?
Ans X A @fda

X B gerftar

 C. Hid gee s
X D iR g

Ans X A Sl W7 (Jacques Rogge)
X B A un gy
 C. vilsE ar
X D al diilde

‘Question 1D : 9277591918
Status : Answered
Chosen Option : A
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Q5 wgEr fRardt ARTSHT 3 Wi (FiFA) Ry w9 dfpwag s
R T e R e

Ans X A #rller
X & Al
X c e
Dtk

Question ID : 9277591922
Status | Answered
Chosen Option : A

Q6 2011 B T P IR, HHT WA P E?
Ans X A ag oifdd, it 7 a8 @ U e @1 @), Ree-ug aear gl AR e & udl @ gal
R & g
’B\.iiii?itfifd Sil 7 9 3ad oAf¥e au @t § o Sl off e a e o
Haxii ¢l
X .5 afu aud A 3u @1 ag afd, of vl dfavm & el 8
i # fere.ug wawan 21
X D. ag ofda, ol e A AR wan Tl of s 3 ug wwan g

Q7 yRa F o & A fR¥a T s
frar mm 32

Ans X A TBG
X 8 wufy
X C. &ay

« D H5@

‘Question 1D : 9277591916
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Qs
Ans

eTife g WfEaw grer=n (Tops)y # 1
X A 2024 AR 2028 JHidf® & o Sa yuras! & dar s ke @

X B. 2024 3R 2028 & Acditw & fag G 5 ufasra anfior ucdiel ot ar & P @
 C. 2024 3R 2028 il & fow gfr vudiel @ dur ax- Piga @
X D. 2024 3R 2028 ieifw ¥ fong o 5 ufvera afgen guehie! @t dur e Pa @

Question 1D : 9277591923

Status : Answered

Chosen Option : D

Q9

Ans

Which of the following temperatures is closest to the temperature of a normal human
body?

X A18C
XB24°C
L C37c
XD.30cC

Q.10 HRA WHR B ATYHH HRE Tro1 F Haiia e

Ans X A z24M%
B 25 {\o
X c zawE
X D w3aE 0

Question |1D : 9277591907

Status : Answered

Chosen Option : B
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Qi1 iy fad ardt vgd yRAT B 42

Ans X A u@fRIY
X B Xga g
X C. IR
o D M
Question 1D : 9277591917
Status : Answered
Chosen Option : A

Q.12 1930 ® W P} WdTaT ¥UH F IR AT TEI WA BIUEA (Chittagong

armoury raid) & FaAqaEsal B 42
Ans X A f¥lmay
X B v fagdl ala
X C. wfeagen) amad]
i "D

Q.13 fIwaw 2020 A%, TR 4¥ I & WEIT:
Ans X A ol G (Juan Somavia)

« B. T UIST (Guy Ryder)
X c. wifd qeriard (Francis Blan
X O Fiydet €984 (Michel Har

Question 1D : 9277591919
Status : Answered
Chosen Option : D
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Q.14 The pre-monsoon showers experienced in Kerala and Karnataka, towards the close of
summer, are known as:

Ans X A jet steams
X B kalbaisakhi
X C. western depressions
«” D. mango showers

Question 1D : 9277591911
Status : Answered
Chosen Option: C

Q15 g ¥ | S7-91 G, Y AR AW IAH (MSME) 87 & wiafa, R diwor o R 3
v fsfte dwim & w0 A Bl s e

Ans X A SEB|
X B S8
« C. SID8|
X D.NABARD

Ans X A dRmue didy
X 8 39 whe
X C #ia@ @
O TR
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Q.17 Pra ¥ | 7g #i-8 R-urg 2, o Ferugsi 1 a3 F g Rl e & fyarar omar 22

Ans o A
X B. sifFdiem
X C. Ao
X D. 4
Question 1D : 9277591909
Status : Answered
Chosen Option : A

Q.18 iy wre Arde g fsw v aoht  RE 2
Ans X A @RI udd goft

B aRmad uda ot
X C. aagsr udd s
X 0. fwrer uda avit

Q.19 et vrou H woawTE B pufagRT__ ad @t

AR T TR T W AT @R | ;
Ans X A @6 g
X 8 d= L o
ki N
X 0
Question 1D - 9277591920
Status : Answered
Chosen Option : A

Page - 67



A testbook.com 1 Download Testbook App

Q.20 Under Article 32 of the Constitution of India, the Supreme Court is invested with the
power to issue writs. Which of the following is NOT one of those writs?

Ans A Anapneo
X B. Quo waranto
X C. Prohibition
X D. Mandamus

Question 1D : 9277591921
Status : Answered
Chosen Option : B

Section - Reasoning

Q.1 Which letter cluster from the options will replace the question mark in the following
series:

FOK, JLM, NIO, RFQ, ?
Ans X A UCS

B VS
X c.uor
X D.ver
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Ans XX A. el (<IEHIHY)
X 8.y
X c. foa
« D &EAr

Question 1D : 9277591932
Status | Answered
Chosen Option : D
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Q.3 Study the diagram carefully and answer the question that follows:

Urban

21

Scientist

What is the number of urban female scientists?
Ans X A 28

X B33

& C 17
X D19
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Q4 T A @t A v Fre & Tu sy 1w P wvar g
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Q5 gw Pifya #ifT wondht #, afy "RAIU" B 9-26-17-6 F T | peas; far wraT 8, “KAVI®
B 16-26-5-18 B T A Heaw U wa1 8, A “TONY" B 58 w9 & pea far

He?
Ans X A 49110

X B.6-10-121
&G 7-12-132
X D.812-14-4

Question 1D : 9277591929
Status - Answered
Chosen Option : C

Qs ﬁmﬁy&a&hwmiwﬁﬁﬁmmiﬁﬁvgw
mammmg

Ans X A T

X B M

« C %&R

X D. SHER
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a7 mmmiwmaﬂvmma}a&wﬁwmﬂ!tlmmmiﬁr
B R 7 vaw 3E ok T F AR W e w1 v i)

YT : Y 48 Furw far wren wfgen

a6 fear et sraaht & & afyomat &
lwwﬂﬂ%mmrﬂmna pat aq

&, ﬁmﬁmmmluwmtmm%mﬂmﬁ
I YA R, S AT TR T R

Ans X A @1 ot ab gaaadl &)
X B & ab | u4w &)
 C. @kl adb vae 81
X D &t ad 1 waa @)

Question 1D - 9277591934,
Status : Ansmggf
Option : D
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Q8 e e ¥ weraTes U (2) $ A W B A e srpfa smgrdt?

A G > Qv o
?

P S| @ d S
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8+3+9-27x9=30
Ans X A+ AR
o B LRy
X Cw R
XD W aRx

Q9 fRy g witevo i 1T w0 F w HE & forg Tl 5= 3 Rrgt & s F agan
ST wfge?

Question 1D : 9277591936
Status : Answered
Chosen Option : B

Q.10 § 1§ sy & Rrart amaa 32

Ans X A 35
X B 28
s €33
X D.25
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Q.11 & 7w Fr=ifa sl #t wra w3 & forg, Rreeat 7 | fvw o &t ador AB & oy
Y ST AR

A

s

ofy sl
-

=t
* (O %

Ans

§ ol |8 K5
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X c

O

Question 1D : 9277591940
Status : Answered
Chosen Option : D
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Q13 Pr=ifdsa @ ¥ St | HeRiP-FYE TaTes U (7) $ I W Hg?

A4L, BBN, D12Q, G16S, K20V, ?
Ans o A P24X

X B Qey
X €. 024y
X D.R24T

Question 1D : 9277591926
Status | Answered
Chosen Option : A
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Q.14 Select the option that is related to the fourth figure in the same way as the first figure

is related to the second figure.

O¢

@

:@::

1

1 ©

O o

(.

¥
O
B
O
==
O

w
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Question 1D : 9277591942
Status | Answered
Chosen Option : B

Q.15 Praifda e & B+ @ w@n wwares g (2) F wEw

123, 146,171, 198, ?
Ans X A 306

X 8268
V¥ C 227
X D 324
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Q16 %ﬂm&;?}ﬂ?mmm?ﬁ#%w‘?vmthuﬁ:m m;ﬂ
: AT ¥ , FATRY
dﬁggﬁm#m‘aﬁmw%agwmtl ™

Prepd - -
|. $o phfal 1
n.!:&:’fmgsﬂi% I
Il $& TerEal

mgt\ﬂﬂwtl ;

Ans X A fsmul | a4 8 @i g SERRY Ed ¢
X B et P | AR 1) SRRV @A T
o C Fae s ) 0 3 oRERm @ )
% 0. s 1 1v 1 @ B b R Sl )
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Q17 g U Y 3 srer-sre Ruferat quté € & R ow w@ang 4, 5, 6,7, 8 i 9 AifbA )
I AW B ypwiAg A W@ 7 0@ vas » Ao wew w Ehh

Ans X A4
X B9
Xcs
S D06

Question 1D : 9277591944
Status : Answered "

Q.18 T Reea @1 ag Fifg Rreer S v S adt wau 2, o

Finish: End : : Hide : ?
Ans X A Flaunt

X B Expose
«” C. Conceal
X D. Disclose
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Q.19 Fw Rreeq o1 wa= Fiftg et AaY sier-aap A a8 4y B, At g J&T-T9E 1
TERA HR-FHE A B

NUPK : SZUP::GPLT: ?
Ans X A MsSQz

X B LTPX
 C. LuQy
X D.NUQZ

Question 1D : 9277591927
Status - Answered
Chosen Option : C

Q.20 !ﬁmmwﬁmim«mmtnﬁqjﬁaﬁum oot 8, I
2 Y 3 km Terar 31 Rw I fowm & 4 km TeaT B, 30 t.?ehu Kkm ST
mmmm1 km miuimw@%mm'

Ans ¢ A Bkm
X B 10km
X C.12km
X D.6km

Section : General Hindi
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Q1 Prefflw 3 | o9 & v s W g2

Ans X A I
X 8.
X c. @
& D b
Question 1D : 9277591948
Status - Answered
Chosen Option : D

Q2 gfvadT ¥ R gt @ warr gan 22
Ans X A1

X B W
xXcull
¢ 0 R

‘Question 1D : 9277591953
Status : Answered
Chosen Option: B
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Q4 FrgaarEr 3 & g Iuge gereR B W 82
Ans X A @l g

X B. SHR SFI

X C. 3@ 4u

« D di&u wis

Question 1D : 9277591954
Status : Answered
Chosen Option : D

Q5 fame ¥ fra vem STRa R 22

Ans A
X B &
X C. ¥ae
X D. e

‘Question 1D : 9277591950
Status : Answered
Chosen Option : C
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Q7 Prafafle ¥ | o w1 v W T8 22

Ans X A UGEd

X B Ulg

X C.u$g

« D GHar

Question 1D : 9277591952
Status : Answered
Chosen Option : C
—

Q8 RS IR WA Fafa et & P wxers 3 St a1 gafta =@ 2
Ans A anf. i
X B i@ . R
X C udy. &
X D @l -3

Q9 wwwor ® few Sawnt & wah gan 82

Ans A T
xed
X C.uy
X D. 8

‘Question 1D : 9277591945
Status : Answered
Chosen Option : A
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Q.10 W3 7y 7 vy  fog Wl e B W 22
Ans X A 3R

X B. 3
X C.Wup
o« D. 3R

Question 1D : 9277591949
Status - Answered
Chosen Option : D
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